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Setting Up an 
Effective Farm Trial



�	�����
����������������������������	�������
���
������������	������=7�E3��	�%&&�=

%=�� *�	���������	���������� 	��������������������
��������������	�������������	�������������	��
�	��!�����������������������	�������������������
��������	
��
	����������
��

����	
���E���	�
�	����
�������������	�����=������������
����
�
��
�����������������������	
������������ �	�����
����
����8�������������������	���
����������	�
�������������������������������7�$���� 	��������
��������������
���5
���������������	����������	��	�
 �����
������

��������������	����������	����	��
��
 ���
	��I	�����������	��������	��8��	�������
�

�
	�����������I	����������	�
����
�������
�	�
����	����������

�=�� 3�	��������������	����
��������	����������	�
�
�
����������������������)�������
�������	��������
���
����������	������
���
�		�������	����������
����
������	����	��������
�	
�
���	��$����
��������	������	��������������	�������������
I����	������
����E�H&�&FG������������=����������
����

����������������9��
������

1=�� >0���
��������5
�����	��������	�����
���������
��I����#���
 ���J$����
������������
�	���
�
��	�������5
��������@
�������	��	�����	���	�
����

�������������	�����
�����������������
��������
��������
�������?�E3��	��%&&�=���.����

����	��	����������9����	������
�	
�����!�����
��������	���������
�����������
�������������
���������
�����
��E�����������	����������	��
���%&��������������=������	������
����
��
��������
�����	�E�������	=��	��������������	��	�
������������
�����	��������������������������
������
������� ��E���������%&� ��������������
��F#%�&=���
���������������$������������

��
��������	��������������	��������
�����	������
�����
����� ����������	
����������������	���
E��	���������=����������
����������
���������
�������������

F=�� 3����
����
���	��������I���������
������8��

�
���������
���������	��9���������������������
	�����������
��	
������	�����	�����������	���
5
�����	��$��������������� �	����������������
������	��	���	������������������:� 	��	�
������
���	�������������


���
��	������
�
����
������������	����������������������	�����	
���
/����	�����
 ��������	�����������	��	��
�������	�����������
����
���	��������	�E
��	��
�
�������
��	����	�K
���:�����������
����������	�
K�	
���7=��	����
���	����������	������������E����
������������������� L=������	������
 
�����	�
���	��������
	�9��
�����������������	������

����������
����	��������E��������
�����


�����
�	�
��������
 �
�������������	
���	��
������7=�
�	���	�����	���	����
��
�����������	��������	��

��
 ������
����������	�
��������
�	��	
�����
������������9��
�������������������������������
������������������	����������������������������
������������E����������
����9�	���������	��
�����	������
�#��#������	
���	��=��$�������������
����������������������
������

�������	�������	�
�������������������
�����
��������������	����
����������@
������������������
	�������

����
�	�������	���	�����������������������������������
��������������
����� ��
��	�������������������

����
��������������	��
��	��	�������	���	�
������	�� ������
	��	��������	�����������������
�������
���	������	�����������	�������������
@
���	��������	����	�����	������J���

4	��������������������������
�������>���	���
�
�������������
����������	��������	�����������	��
����������?�EM�
������%&&�=�������9����������	�
��������������	����������
��
 ������
�	�����	����
������	���
�����	���������
��������������
��������
�� ��������������
�
�������I	��������
�#��#�����
���	���E����
������&G�����������������	��������	=����
	����


���
��	������������������

��
�����������
�������������		���������������
����������
���������	

�=�� 3������������������D�����	�����
�����������
���������� ����������
�	����	
��E�
���
��	��
�������	�������������
�������=�����������������	
��
!��������	���������
���
�	������������������
��������������	7�$����
�	���������
�@�
�������
����
����
�
�����
�������
���������������	
��
�	���	���������������������������	���	��
�	�
������

��������������
�������
A�����A
�	��9�������������	����
�����������
�
���

��A���
�7�N(�43��*O5�2

%=�� *��

����������� ������	�	
������	����������
�


����
���������8�����������
���
��	�����@
������
������� ��	��
�������
�	�

��	�����������7�
6�����
��	�������������	�����<�����
�	��	�
	����	������	����
�
�������������;�������

�������
�������������	��������������������
�����
���������������������
�	�!��9��
����P��
���
�	��������P���	�����	���	7

�=�� /���������������	��������������	�������������
�������	������������������������
�����	������
��������� ��������
������
���������������������
�����	���

1=�� ,�����
��
 ������� �������	������
����������	�
��
���


����
���������������	�����	�
�

�

���������������
$�����������	����
�
������	����������	��

��
�	��������������	����� �����

�����0������	��
�������
�	���
����
���	�������������	����������
��
��������
�������	�������� �	�������������
���������
�	����� �	�����������#�������������������������
����
������������
�
�	����	
���������
�������������������
�	���
���
��	�������������������������
�	���
�
���
�	�
	����

���	���
�	���
�
��

����	
���

!������������	��������	������	����9�����
����
�
����������������	������
�	���
���	������������������
�����	������	����
���������5
��������
�
������
�����	��	���������	���	��	#�������������	�
���
������
���������������������������� ��
��!��
������

����

�������
��
 ���������	
��������
��
��	
���
�����


�������

�
������� ��

3��	��K���%&&���4	#�����������������<�����
���������������
��	���������
���
�	���
�����
���	���
�	���������	
����0����
�	�0���
�����	����
)��	��Q�����	����	�����
����	�����%2�#%�&

M�
������M��%&&���(������
�	�

���	��
�	�����������	������������������6�		������+
������	�
*�	����	
�����
����	���%12#%F1�

3�������(������%&�&�������������������	��	��
����
����	��0���	�3��.���	�)��	��*�	����	
��
���
�	����	
����� �����

3Fall 2010

“when you start to measure something, it 
generally begins to improve” (Krueger, 2009).


